National Testing Agency

Applied Geography and Geoinformatics Eng 13th June

Question Paper Name : 2023 Shift 2

Subject Name : Applied Geography and Geoinformatics Eng
Creation Date : 2023-06-14 23:33:54

Duration : 120

Total Marks : 400

Display Marks: Yes

Applied Geography and Geoinformatics

Group Number : 1
Group Id : 686340189
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Part A
Section Id : 686340377
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340629
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634019039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Vidyasagar's contribution to the making of modern India is many sided. He evolved a new methodology of
teaching Sanskrit. He wrote a Bengali primer which is used till this day. His writings helped in the evolution of
a modern prose style in Bengali. He opened the gates of the Sanskrit college to non-brahmin students for he
was opposed to the monopoly of Sanskrit studies that the priestly caste was enjoying at the time. He was
determined to break the priestly monopoly of scriptural knowledge. To free Sanskrit studies from the harmful
effects of self-imposed isolation. he introduced the study of Western thought in the Sanskrit College. He also
helped found a college which 1s now named after him.

Above all Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of India's
downtrodden womanhood. Here he proved a worthy successor to Rammohun Roy. He waged a long struggle
in favour of widow remarriage. His humanism was aroused to the full by the sufferings of the Hindu widows.
To improve their lot he gave his all and virtually ruined himself. In 1855, he raised his powertul voice, backed
by the weight of immense traditional learning. in favourof window remarriage. Soon a powerful movement in
tavour of widow remarriage was started which continues till this day. Later in 1855, a large number of
petitions from Bengal. Madras, Bombay. Nagpur and other cities of India were presented to the government
asking it to pass an act legalising the remarriage of widows. This agitation was successful and such a law was
enacted.

The first lawful Hindu widow remarriage among the upper castes in our country was celebrated in Calcutta on
7 December 1856 under the inspiration and supervision of Vidyasagar. Widows of many other castes in
different parts of the country already enjoyed this right under customary law.

Sub questions

Question Number : 1 Question Id : 68634019040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was the first lawful Hindu widow remarriage among the upper castes in our country celebrated?

1. 7 December 1865

| )

. 17 December 1685

3. 7 December 1586

4. 7 December 1856

Options :

68634075201. 1
68634075202. 2
68634075203. 3
68634075204. 4

Question Number : 2 Question Id : 68634019041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of
India's downtrodden motherhood.

Statement II: Vidyasagar evolved a new methodology of teaching Sanskrit.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634075205. 1
68634075206. 2

68634075207. 3
68634075208. 4

Question Number : 3 Question Id : 68634019042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution for the following phrase: The exclusive possession or control of the supply of or trade
in a commodity or service

1. Monopoly
2. Monotone
3. Analogous

4. Anarchy

Options :

68634075209. 1
68634075210. 2
68634075211. 3
68634075212. 4

Question Number : 4 Question Id : 68634019043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term 'agitation' from the options given below

1. campaign to arouse public concern about an 1ssue

| ]

. resentful because of unfair treatment
3. violent behaviour
4. not interesting because of lack of change or variety

Options :

68634075213. 1
68634075214. 2
68634075215. 3
68634075216. 4

Question Number : 5 Question Id : 68634019044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the opposite meaning of the term 'downtrodden’ from the options given below

1. Educated

J

. Neglected

[#F5]

. Respected

ahan

. Helpless

Options :

68634075217. 1
68634075218. 2
68634075219. 3
68634075220. 4

Question Id : 68634019039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Vidyasagar's contribution to the making of modern India is many sided. He evolved a new methodology of
teaching Sanskrit. He wrote a Bengali primer which is used till this day. His writings helped in the evolution of
a modern prose style in Bengali. He opened the gates of the Sanskrit college to non-brahmin students for he
was opposed to the monopoly of Sanskrit studies that the priestly caste was enjoying at the time. He was
determined to break the priestly monopoly of scriptural knowledge. To free Sanskrit studies from the harmful
effects of self-imposed isolation. he introduced the study of Western thought in the Sanskrit College. He also
helped found a college which 1s now named after him.

Above all Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of India's
downtrodden womanhood. Here he proved a worthy successor to Rammohun Roy. He waged a long struggle
in favour of widow remarriage. His humanism was aroused to the full by the sufferings of the Hindu widows.
To improve their lot he gave his all and virtually ruined himself. In 1855, he raised his powertul voice, backed
by the weight of immense traditional learning. in favourof window remarriage. Soon a powerful movement in
tavour of widow remarriage was started which continues till this day. Later in 1855, a large number of
petitions from Bengal. Madras, Bombay. Nagpur and other cities of India were presented to the government
asking it to pass an act legalising the remarriage of widows. This agitation was successful and such a law was
enacted.

The first lawful Hindu widow remarriage among the upper castes in our country was celebrated in Calcutta on
7 December 1856 under the inspiration and supervision of Vidyasagar. Widows of many other castes in
different parts of the country already enjoyed this right under customary law.

Sub questions

Question Number : 1 Question Id : 68634019040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was the first lawful Hindu widow remarriage among the upper castes in our country celebrated?

1. 7 December 1865

| )

. 17 December 1685

3. 7 December 1586

4. 7 December 1856

Options :

68634075201. 1
68634075202. 2
68634075203. 3
68634075204. 4

Question Number : 2 Question Id : 68634019041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of
India's downtrodden motherhood.

Statement II: Vidyasagar evolved a new methodology of teaching Sanskrit.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634075205. 1
68634075206. 2

68634075207. 3
68634075208. 4

Question Number : 3 Question Id : 68634019042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution for the following phrase: The exclusive possession or control of the supply of or trade
in a commodity or service

1. Monopoly
2. Monotone
3. Analogous

4. Anarchy

Options :

68634075209. 1
68634075210. 2
68634075211. 3
68634075212. 4

Question Number : 4 Question Id : 68634019043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term 'agitation' from the options given below

1. campaign to arouse public concern about an 1ssue

| ]

. resentful because of unfair treatment
3. violent behaviour
4. not interesting because of lack of change or variety

Options :

68634075213. 1
68634075214. 2
68634075215. 3
68634075216. 4

Question Number : 5 Question Id : 68634019044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the opposite meaning of the term 'downtrodden’ from the options given below

1. Educated

J

. Neglected

[#F5]

. Respected

ahan

. Helpless

Options :

68634075217. 1
68634075218. 2
68634075219. 3
68634075220. 4

Sub-Section Number : 2
Sub-Section Id : 686340630
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair.

1. I think you'll leave now. It's vary late.

| ]

.1 think you're leaving now. It's very late.

L]

. I think you should leave now. It's very late.
4. T think you left now. It's very late.

Options :

68634075221. 1

68634075222. 2

68634075223. 3
68634075224. 4

Question Number : 6 Question Id : 68634019045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair.
L. I think you'll leave now: It's vary late.
2. I think you're leaving now. It's very late.
3. I think you should leave now. It's very late.
4. I think you left now. It's very late.
Options :
68634075221. 1
68634075222. 2

68634075223. 3
68634075224. 4

Question Number : 7 Question Id : 68634019046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word.

1. Obsolescent

[

. Obsolencent

L]

. Obsolentes

4. Obsolensent

Options :
68634075225. 1
68634075226. 2



68634075227.3
68634075228. 4

Question Number : 7 Question Id : 68634019046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word.

1. Obsolescent

| ]

. Obsolencent
3. Obsolentes
4. Obsolensent
Options :
68634075225. 1
68634075226. 2

68634075227.3
68634075228. 4

Question Number : 8 Question Id : 68634019047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out which part of the sentence has an error. if there is no error. mark option 4.

1. The animals having a narrow range

J

. of tolerance of temperatue
3. 1s restricted to specific areas only.
4. No error

Options :

68634075229. 1
68634075230. 2
68634075231. 3
68634075232. 4

Question Number : 8 Question Id : 68634019047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which part of the sentence has an error. if there is no error. mark option 4.

1. The animals having a narrow range

| ]

. of tolerance of temperatue
3. 1s restricted to specific areas only.
4. No error

Options :

68634075229. 1

68634075230. 2

68634075231.3
68634075232. 4

Question Number : 9 Question Id : 68634019048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.

He said to me, "What are you doing".

1. He asked me what he was doing.

| B

. He asked me what I was doing.
3. He asked me what were you doing.

4. He asked about my work.

Options :

68634075233. 1
68634075234. 2
68634075235. 3
68634075236. 4

Question Number : 9 Question Id : 68634019048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.

He said to me, "What are you doing".

1. He asked me what he was doing.

J

. He asked me what I was doing.
3. He asked me what were you doing.

4. He asked about my work.



Options :

68634075233. 1
68634075234. 2
68634075235. 3
68634075236. 4

Question Number : 10 Question Id : 68634019049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence:

Better results are expected soon by the Chairman.

1. The Chairman expected better results soon.

-2

. The Chairman 1s expecting better results sooner or later.

LS ]

. The Chairman expects better results soon.
4. The Chairman never expects better results soon.

Options :

68634075237. 1
68634075238. 2
68634075239. 3
68634075240. 4

Question Number : 10 Question Id : 68634019049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence:

Better results are expected soon by the Chairman.

1. The Chairman expected better results soon.

-2

. The Chairman 1s expecting better results sooner or later.
3. The Chairman expects better results soon.
4. The Chairman never expects better results soon.

Options :

68634075237. 1
68634075238. 2
68634075239. 3
68634075240. 4

Question Number : 11 Question Id : 68634019050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has been named as the Laureus Sportsman of the Year 20227

1. Christiano Ronaldo

| ]

. Roger Federar

L]

. Neeraj Chopra
4. Max Verstappen

Options :

68634075241. 1

68634075242. 2

68634075243. 3
68634075244. 4

Question Number : 11 Question Id : 68634019050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who has been named as the Laureus Sportsman of the Year 20227
1. Christiano Ronaldo
2. Roger Federar
3. Neeraj Chopra
4. Max Verstappen
Options :
68634075241. 1
68634075242. 2

68634075243. 3
68634075244. 4

Question Number : 12 Question Id : 68634019051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As a result of assignments signed will South Africa and Nambia 'Cheetahs' have been released to which state?

1. Assam

| B

. Madhya Pradesh

L¥ ]

. Rajasthan

i

. Gujarat

Options :
68634075245. 1
68634075246. 2



68634075247.3
68634075248. 4

Question Number : 12 Question Id : 68634019051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As a result of assignments signed will South Africa and Nambia 'Cheetahs' have been released to which state?

1. Assam

[ ]

. Madhya Pradesh

3. Rajasthan

N,

. Gujarat

Options :

68634075245. 1
68634075246. 2
68634075247. 3
68634075248. 4

Question Number : 13 Question Id : 68634019052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following states has the lowest unemployment rate in 2022,

1. Tharkhand

|

. Orissa
3. Haryana
4. Chhattisgarh

Options :

68634075249. 1
68634075250. 2
68634075251. 3
68634075252. 4

Question Number : 13 Question Id : 68634019052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following states has the lowest unemployment rate in 2022.

1. Jharkhand

| ]

. Orissa
3. Haryana
4. Chhattisgarh

Options :

68634075249. 1
68634075250. 2
68634075251. 3
68634075252. 4

Question Number : 14 Question Id : 68634019053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If recession is to be combatted:

1. Bank rate needs to be lowered

|

. CRR needs to be lowered
3. Bank rate and CRR needs to be lowered
4. Repo rate needs to be lowered and CRR need to be raised
Options :
68634075253. 1
68634075254. 2

68634075255. 3
68634075256. 4

Question Number : 14 Question Id : 68634019053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If recession is to be combatted:

1. Bank rate needs to be lowered

[

. CRR needs to be lowered

3. Bank rate and CRR needs to be lowered

4. Repo rate needs to be lowered and CRR need to be raised
Options :

68634075253. 1
68634075254. 2



68634075255.3
68634075256. 4

Question Number : 15 Question Id : 68634019054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Science Day is celebrated on 28 February to mark the

1. Discovery of Raman Effect’

[ ]

. Formation of ISRO
3. Launch of First Indian Sattellite
4. First Wuclear Test' of India
Options :
68634075257. 1
68634075258. 2

68634075259. 3
68634075260. 4

Question Number : 15 Question Id : 68634019054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Science Day is celebrated on 28 February to mark the

1. Discovery of Raman Effect’

J

. Formation of ISRO
3. Launch of First Indian Sattellite

4. First Wuclear Test' of India

Options :

68634075257. 1
68634075258. 2
68634075259. 3
68634075260. 4

Question Number : 16 Question Id : 68634019055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a codel language LION is written as 1291514, Then how will ALLIGATOR be written as?

1. 11212971201518

| ]

C11212791211518
3.12121791211518
4.11212961201518

Options :

68634075261. 1

68634075262. 2

68634075263. 3
68634075264. 4

Question Number : 16 Question Id : 68634019055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If in a codel language LION 1s written as 1291514, Then how will ALLIGATOR be written as?

1.11212971201518

| -]

C11212791211518
3.12121791211518
4,11212961201518

Options :

68634075261. 1

68634075262. 2

68634075263. 3
68634075264. 4

Question Number : 17 Question Id : 68634019056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the pair which best represents a similar relationship to the one expressed in the original pair of words -
Skipper : Team
1. Driver : Bus
2. Conductor : Orchestra

3. Air hosters : Airplane

4. Peon : Office

Options :
68634075265. 1



68634075266. 2
68634075267. 3
68634075268. 4

Question Number : 17 Question Id : 68634019056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the pair which best represents a similar relationship to the one expressed in the original pair of words -

Skipper : Team

1. Driver : Bus

[ ]

. Conductor : Orchestra
3. Air hosters : Airplane

4. Peon : Office

Options :

68634075265. 1
68634075266. 2
68634075267. 3
68634075268. 4

Question Number : 18 Question Id : 68634019057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sham was walking towards South. After walking for 7 km. he took a right turn. After 3 km. he again took a
right turn and continued walking for 4 km. He then took a left turn and walked 2 km. He took another left turn
and covered a distance of 9 km. How far he is from the starting point?

1.11 km

| ]

.17 km
3.13 km
4. 15 km

Options :

68634075269. 1
68634075270. 2
68634075271. 3
68634075272. 4

Question Number : 18 Question Id : 68634019057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sham was walking towards South. After walking for 7 km. he took a right turn. After 3 km. he again took a
right turn and continued walking for 4 km. He then took a left turn and walked 2 km. He took another left turn
and covered a distance of 9 km. How far he is from the starting point?

1.11 km

-

.17 km

3.13 km

4. 15 km

Options :

68634075269. 1
68634075270. 2
68634075271. 3
68634075272. 4

Question Number : 19 Question Id : 68634019058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select a suitable figure from the answer figures that can replace the question mark (?)

Problem Figures Answer Figures

] AV

(1) (2) (3) (4) A B & D

Select the suitable answer figure that would replace the question mark.

1A

b

B

&0

4.D

Options :

68634075273. 1
68634075274. 2
68634075275. 3
68634075276. 4

Question Number : 19 Question Id : 68634019058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Select a suitable figure from the answer figures that can replace the question mark (?)

Problem Figures Answer Figures
(1) (2) (3) (4) A B c D
Select the suitable answer figure that would replace the question mark.
1.A
2.B
3.C
4.D

Options :

68634075273. 1
68634075274. 2
68634075275. 3
68634075276. 4

Question Number : 20 Question Id : 68634019059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A statement is followed by two courses of action. Assume that everything written in the statement is true. On
the basis of the statement decide which course of action logically follows for perusing.

Statement :

As the booking for new car being launched by XYZ company opened. the car dealer witnesses long queues.
The customers complained of poor conditions and demanded extension of booking tune.

Course of action :

(1) The car dealer should mecrease number of desks for booking and inerease business hours to ease the heavy
rush.

(11) The car dealer should introduce online booking of cars

et

. Only (1) follows

[ B

. Only (i1) follows

[ 5]

. Neither (1) nor (i1) follows

e

. Both (1) and (11) follows



Options :

68634075277. 1
68634075278. 2
68634075279. 3
68634075280. 4

Question Number : 20 Question Id : 68634019059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A statement is followed by two courses of action. Assume that everything written in the statement is true. On
the basis of the statement decide which course of action logically follows for perusing.

Statement :

As the booking for new car being launched by XYZ company opened. the car dealer witnesses long queues.
The customers complained of poor conditions and demanded extension of booking time.

Course of action :

(1) The car dealer should inerease number of desks for booking and increase business hours to ease the heavy
rush.

(11) The car dealer should introduce online booking of cars

—t

. Only (1) follows

J

. Only (i1) follows

LN ]

. Neither (1) nor (11) follows

oy

. Both (1) and (11) follows

Options :

68634075277. 1
68634075278. 2
68634075279. 3
68634075280. 4

Question Number : 21 Question Id : 68634019060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive positive integers starting with m is n. What 1s the average of 6 consecutive
positive integers starting with (m+2) ?

1. 2n+5)/2
2:ntd
3.n+3

4. (2n+9)/2



Options :

68634075281. 1
68634075282. 2
68634075283. 3
68634075284. 4

Question Number : 21 Question Id : 68634019060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive positive integers starting with m is n. What 1s the average of 6 consecutive
positive integers starting with (m+2) ?

1. 20+5)/2

2.nt2

3.n+3
4. 2n+9)/2

Options :

68634075281. 1
68634075282. 2
68634075283. 3
68634075284. 4

Question Number : 22 Question Id : 68634019061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many words can be formed from the letters of the word ORIENTAL so that vowels always occupy the
odd places?

1.

L]

76

4. 678

Options :

68634075285. 1
68634075286. 2
68634075287. 3
68634075288. 4

Question Number : 22 Question Id : 68634019061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many words can be formed from the letters of the word ORIENTAL so that vowels always occupy the
odd places?

1. 576

4. 678

Options :

68634075285.
68634075286.
68634075287.
68634075288.

AW N =

Question Number : 23 Question Id : 68634019062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ayan borrowed Rs. 50,000 from Ayush on 25th April. 2022 at 12% p.a. simple interest. Ayan cleared his debt
on 18th September, 2022. How much interest is paid by Ayan?

1.22.200

Options :

68634075289. 1
68634075290. 2
68634075291. 3
68634075292. 4

Question Number : 23 Question Id : 68634019062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ayan borrowed Rs. 50.000 from Ayush on 25th April. 2022 at 12% p.a. simple interest. Ayan cleared his debt
on 18th September. 2022. How much interest is paid by Ayan?

1.72.200



Options :

68634075289. 1
68634075290. 2
68634075291. 3
68634075292. 4

Question Number : 24 Question Id : 68634019063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following numbers (A-D) in descending order.

L
B. 212
c. 3l

Choose the correct answer from the options given below:
1.D,A B. C,
22AD.B.C
3.B. DA C
4.C, B, DA

Options :

68634075293. 1
68634075294. 2
68634075295. 3
68634075296. 4

Question Number : 24 Question Id : 68634019063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following numbers (A-D) in descending order.

A4l
B. 212
c. 3o
D. 514

Choose the correct answer from the options given below:
1., A B.C,
22A D B.C
3.B. DA C
4.C.B.D. A

Options :

68634075293. 1
68634075294. 2
68634075295. 3
68634075296. 4

Question Number : 25 Question Id : 68634019064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three containers have their volumes in the ratio 3:4:5. They are full of mixture of milk and water in the ratio
4:1. 3:1 and 5:2 respectively. The mixtures from all these three containers are poured into a fourth container.
The ratio of milk and water i the fourth container is:

1.4:1
2.151:48
3.157:53
4. 5:2
Options :

68634075297. 1
68634075298. 2
68634075299. 3
68634075300. 4

Question Number : 25 Question Id : 68634019064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three containers have their volumes in the ratio 3:4:5. They are full of mixture of milk and water in the ratio
4:1. 3:1 and 5:2 respectively. The mixtures from all these three containers are poured into a fourth container.
The ratio of milk and water i the fourth container is:

1.4:1

| )

. 151:48

L]
[
L
~J]
L
Lad

4. 5:2

Options :

68634075297. 1
68634075298. 2
68634075299. 3
68634075300. 4

Part B: Applied Geography and Geoinformatics

Section Id : 686340378
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340631
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is a variant of Mongolian race?

1. Nordic race

[

. Negritoes

5]

. Alpine race
4. Negroes

Options :

68634075301. 1
68634075302. 2
68634075303. 3



68634075304. 4

Question Number : 26 Question Id : 68634019065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FfafEa o 9 $1F Wi ueifd &1 (@ TR © 2
1. TS gt
e

. 3edrg USlld
4. A0

Options :

68634075301. 1
68634075302. 2
68634075303. 3
68634075304. 4

| ]

[ 5]

Question Number : 27 Question Id : 68634019066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 18 NOT included in the 5 major themes in Human Geography?

1. Location

| ]

. Place
3. Movements
4. Hierarchies

Options :

68634075305. 1
68634075306. 2
68634075307. 3
68634075308. 4

Question Number : 27 Question Id : 68634019066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U4 0 o Yig W fowdl (o) § e 0 4 o wraiifaa 9gl 6 2
1. fafufd

R

3. Tifct

| ]

4. UGTHH

Options :

68634075305. 1
68634075306. 2
68634075307. 3
68634075308. 4

Question Number : 28 Question Id : 68634019067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following stage. there is a sharp fall in mortality rate. and fertility rate also shows a
declining trend (but decline in fertility rate is slower and begins later)?

1. Expanding population stage
2. High stationary stage
3. Low stationary stage
4. Declining population stage
Options :
68634075309. 1
68634075310. 2

68634075311. 3
68634075312. 4

Question Number : 28 Question Id : 68634019067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 9 fopr araeu & g & 3ot A o it § SR uorar &R ot firiae &9t ugfy guid @ @fea
Hoidl & 4 [TR1ae il gidl § aur a1 4 XS gl 0)?

1. ST [ Sae
2. 3 RRar sf@w
3. [ AT @

4. GIEH SEEAT Tl

Options :

68634075309. 1
68634075310. 2
68634075311. 3
68634075312. 4

Question Number : 29 Question Id : 68634019068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common way for demographers to graphically represent the composition of the population 1s
a'an

1. Scatter diagram

[ ]

. Line graph

L]

. Age-sex pyramid

s

. Dispersion graph

Options :

68634075313. 1
68634075314. 2
68634075315. 3
68634075316. 4

Question Number : 29 Question Id : 68634019068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W}%‘%}ﬁ%ﬁﬂﬁgm FTEE & SUTH ®f IRNWET &0 § ¥ & fow gad e wgi & o= areit
fafrs .

1. U@l 3
pIETCINEE]
3. Hg-fefTr foRifirs
4. TdgeH 3R
Options :
68634075313. 1
68634075314.2

68634075315. 3
68634075316. 4

Question Number : 30 Question Id : 68634019069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who defined city as "the city is infact the physical form of the highest and most complex type of association
of life".

1. Mumford

[ ]

. Gottman
3. Griffin
4, Geddes
Options :
68634075317. 1
68634075318. 2

68634075319. 3
68634075320. 4

Question Number : 30 Question Id : 68634019069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR Oita & I=aH AR a9 Wied Iy ol Hifdd 34 © el B I IRy fag €t 2
1. AIBIS
Tea
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Options :

68634075317. 1
68634075318. 2
68634075319. 3
68634075320. 4

Question Number : 31 Question Id : 68634019070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Rural settlements in developing countries represent a great challenge and opportunity for
plamners.

Reason R: Rural settlements in developing countries are large in number and poorly equipped with
infrastructure.

In the light of the above statements. choose the correct answer from the options grven below:

1. Both A and R are true and R is the correct explanation of A.

| )

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R 1s false.

4. A is false but R is true.

Options :

68634075321. 1
68634075322. 2
68634075323. 3
68634075324. 4

Question Number : 31 Question Id : 68634019070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3 Py U U §: U BT (Assertion A) B =0 H ARG g A GIRT 3HD BRUI (Reason R) B
*UH:

YD YT A : [dpra=iia g1 & grfior ey deHeRI & A fawgd gfaal ud SiauR uxgd @d ¢ |
BRI R : [dpRRi <=l § Ao sifari @1 T agd Siied g SR SURYd Y= &I HHI Bl © |
SWRIdd ¥l & 3fdle 5.+ fGU 70 fasedl & 9 Tgl SR &1 99 ST |

1. ASIRREHI A § 3R R. A P! UgI U §

2. A 3R R I 9@ €, T R, A P et oo e

3. AT S AfR 39A ©

4. ANTIEABIRITS

Options :



68634075321. 1
68634075322. 2
68634075323. 3
68634075324. 4

Question Number : 32 Question Id : 68634019071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the types of settlement in ascending order(based on population)
A. City
B. Megalopolis
C. Million city
D. Town

Choose the correct answer from the options given below:
1.A,D,C.B
2.D.A,.C.B
3.C,B.A.D
4.D.C.A,B

Options :

68634075325. 1
68634075326. 2
68634075327. 3
68634075328. 4

Question Number : 32 Question Id : 68634019071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR & YORI B RG] HH H oHaeyd DI (SH¥RE & SR W) |

AR
B. T

c. fafea= R
D. H&l

=1 &8 77U o edl © 98l SR &1 994 &1 |

1. ADCB

2Z2DACB
3.C.B.A.D
4.D.C.A.B

Options :



68634075325. 1
68634075326. 2
68634075327. 3
68634075328. 4

Question Number : 33 Question Id : 68634019072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements about sex ratio
Statement I: Tertiary sex ratio is the ratio of males and females at the time of enumeration.
Statement IT: Secondary sex ratio is just one of the determinants of tertiary sex ratio.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement I are incorrect.

3. Statement I is correct but Statement II is incorrect.

4. Statement [ is incorrect but Statement II is correct.

Options :

68634075329. 1
68634075330. 2
68634075331. 3
68634075332. 4

Question Number : 33 Question Id : 68634019072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 3ruTd & fawg o 7 <l Py fau U

BYF 1 : U & GHY TO51 9 Eaal & 91 &1 gaiig e ed |

HUF 11 : fgciios U gt [ &1 76 w6 HuRe 8

SWRIad Syl & 3l H, - f3u U faseedl § 9 68 Sugad IR &1 99 DI
1. U1 AR 11 S TET B
2. BYF 1R 11 EFT Tad §
3. BUF 1 T8I 6. Wi HUA 11 7Tad §
4. PYA 1716 &, Tiich HY 11 el &

Options :

68634075329. 1
68634075330. 2
68634075331. 3
68634075332. 4



Question Number : 34 Question Id : 68634019073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify correct statements about urbanisation.

A. Africa's rate of urbanisation is also likely to fall in future.
B. Europe 1s the least urbanised region of the world.

C. Africa was the most urbanised region of the world m 1950.
D. Asia has the largest urban population in abselute terms.

Choose the most appropriate answer from the options given below:

1. A B. and C only

[ ]

. C and D only

3. Aand D only

4. A. C. and D only
Options :
68634075333. 1
68634075334. 2

68634075335.3
68634075336. 4

Question Number : 34 Question Id : 68634019073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRIGR0T & Ha{td Hel DUl B! gd P |

A, JBTDT B FRIBRU B &R i Higwy & & 51 uohd 6 |
B. TY IR & Had HH TRIPd 87 ¢ |

C. 31T 1950 H TR &1 &4 3{9e 7RI d &7 o7 |
D. e $u H uldnn § waliye R s=dsn g |

i &g T fa el | 9a8 Sugad 9Tk &1 98- iy |
1. $ad A. B 3R C
2. %dd C IR D
3.%ad A ARD
4. $AAA. C 3IRD

Options :

68634075333. 1
68634075334. 2
68634075335. 3



68634075336. 4

Question Number : 35 Question Id : 68634019074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Approaches) {(Features)
A |Fegional Analysis 1. |Quantitative revolution
B. [Spatial organisation IT. R_egmns Werepattata
whaole

Emergence of humanistic, m Understanding each local
radical and behavioural schools " |context

D. |Post-modernism in Geography | IV. mem?ﬁd ma_n_n_er o
doing Geography

Choose the correet answer from the options given below:

1. A-I. B-II, C-II1. D-IV

-2

A-IL B-I, C-IV, D-III
3. A-II1, B-1I. C-IV. D-I
4. A-IV. B-1. C-II, D-III

Options :

68634075337. 1
68634075338. 2
68634075339. 3
68634075340. 4

Question Number : 35 Question Id : 68634019074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 1 gl 11 9 fia oify
1 L iR

(SUTTTH) (ST&0n)
A BT 9wy 1. [T @i
B. [R=® 916 1. |eF 999 @1 fgean Y|
o [FradmErel, sidadrd @ AdeRard |, [Fed S geu
" [[GERuRTa &1 38 BCIEEE]
D. |oiter & SeR-ay T IV. HH%G{WW

FrefciRad f[doedl § ¥ 9gl IR &l 99+ BIf -
1. A-L B-II, C-IIL, DIV
2. A-IL B-L. C-IV, D-III
3. A-IIL B-IL C-IV, D-I
4. A-IV, B-I, C-II, D-IIT

Options :

68634075337. 1
68634075338. 2
68634075339. 3
68634075340. 4

Question Number : 36 Question Id : 68634019075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following representation of a scale i1s NOT affected due to reduction or enlargement of map?
1. Statement scale
2. Representative fraction
3. Graphical scale
4. Numeric ratio

Options :

68634075341. 1
68634075342. 2
68634075343. 3
68634075344. 4

Question Number : 36 Question Id : 68634019075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e b W19 &1 UG HHlE & TRl g faged I yuifad 78l gidi g 2
1. PYATHD HIOH!

el i

3. ARG A

| ]
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Options :

68634075341. 1
68634075342. 2
68634075343.3
68634075344. 4

Question Number : 37 Question Id : 68634019076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Length of a road on a map 1s 10 em. The scale of the map 1s 1:50.000. When the map is reproduced to
1:1.00.000 scale, the map-length of the road is

1.5cm
2. 20 cm
3. 5km
4. 20 kan
Options :
68634075345. 1
68634075346. 2

68634075347. 3
68634075348. 4

Question Number : 37 Question Id : 68634019076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS A R G5 ] amar 10 S.H. 3 | A S HOAT 1:50.000 § | 96 AHH &1 §H9dEA
1:1.00,000 &1 ATH1 IR {351 741 I AFRE R 956 &1 aaly gl

159
2.209.Hl
3.5 femtL
4. 20 foo A,



Options :

68634075345. 1
68634075346. 2
68634075347. 3
68634075348. 4

Question Number : 38 Question Id : 68634019077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following projection is useful for world maps to represent wind circulation patterns. routes.
drainage patterns ete.?

1. Conical projection with one standard parallel

| )

. Mercator's projection
3. Conical projection with two standard parallel
4. Polar zenithal Gnomonic projection

Options :

68634075349. 1

68634075350. 2

68634075351.3
68634075352. 4

Question Number : 38 Question Id : 68634019077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farsy AT 1R a1y FeRu & wicR=dl, AT, sdarg icR=dl 31fe @ g=1i- & fory = § A o arugy
¥ UGl g1

1. U TSP &1 dIell T Y&y
HH Y&

S AP & arel WP Uag
. yJdlg @He S gay

| ]

Lad

.

Options :

68634075349. 1
68634075350. 2
68634075351. 3
68634075352. 4

Question Number : 39 Question Id : 68634019078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Variant of which of the following is used to identify the sphere of influences of towns or cities?

1. Flowline map

[ ]

. Isopleth map

LS ]

. Dot map

N,

. Hyetograph

Options :

68634075353. 1
68634075354. 2
68634075355. 3
68634075356. 4

Question Number : 39 Question Id : 68634019078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE| g1 I3 & WHIE 841 &1 Uga- & fan B9 1 3 [50d UeR &1 v fear snarg 2
. dTg 39g gHfeA
. g & HHERA
3. farg A=
4, quETe
Options :
68634075353. 1
68634075354. 2

68634075355.3
68634075356. 4

[

| ]

Question Number : 40 Question Id : 68634019079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The contour mterval of 1:50.000 Survey of India toposheet is

1. 10m

| )

C20m
3.50m

4,100 m

Options :
68634075357. 1
68634075358. 2



68634075359.3
68634075360. 4

Question Number : 40 Question Id : 68634019079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T R FA& [GURT & 1:50,000 VAP AT WIAA @ ARG Bl g |
1. 10 4.
2. 20 4.
3. 50 M.

4. 100 =,

Options :

68634075357. 1
68634075358. 2
68634075359. 3
68634075360. 4

Question Number : 41 Question Id : 68634019080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Standard parallel in a conical projection is always the line of zero distortion.

Reason R: In a conical projection, the tangential scale along the standard parallel is essentially 1:1.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R i1s the correct explanation of A.

J

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R 1s false.

4. A is false but R is true.

Options :

68634075361. 1
68634075362. 2
68634075363. 3
68634075364. 4

Question Number : 41 Question Id : 68634019080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T gl 2 [T T §: U SHUDUT (Assertion A) P =4 H H1Gd g Al GHRI 3UD BRI (Reason R)
P REE
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Options :

68634075361. 1
68634075362. 2
68634075363. 3
68634075364. 4

Question Number : 42 Question Id : 68634019081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Indian topographical maps in ascending order on the basis of areal coverage (extension)

A. 15 sheet

B. Million sheet
C. Degree sheet
D. Special sheet

Choose the correct answer from the options given below:
1.AB.C.D
2DACB
3JACBD

4.B.A.C.D

Options :

68634075365. 1
68634075366. 2
68634075367. 3
68634075368. 4

Question Number : 42 Question Id : 68634019081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g Havel (faEdR) & SMTUR W YR RSP P HHE D1 3RIel HH H HaRud ST |

A 15 9

B. fafera <ite
c. fedidie
D. fady gffe

=1 &8 77U o edl | T8t SR &1 994 &1 |

1A B €D

2Z2DACB
3JJALC.B.D
4.B.A.C.D

Options :

68634075365. 1
68634075366. 2
68634075367. 3
68634075368. 4

Question Number : 43 Question Id : 68634019082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements about map scale.

A. A scale is defined as the ratio between a distance measured on the map and the corresponding distance on
the ground.

B. A map scale may be expressed as a numeric ratio (R.F.).

C. A numeric ratio scale can not be used universally.

D. It is not possible to draw a graphical scale from the numeric ratio (R.F.).

Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. Aand D only

4. C and D only

Options :

68634075369. 1
68634075370. 2
68634075371. 3
68634075372. 4



Question Number : 43 Question Id : 68634019082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEf H9e P HaH J 96l HYH B Ugdr B

A. THEE 9 AU T g3 SR eRTde U 3l 21 & SUId &l HIue & =4 § URUIE a1 1ar ¢ |
B. OHHA & A9 & AT ST (3. fi)F e d i sufar o gwar g |

C. Y=TES Ul HIUS &l AGUIHS diR U VAR el (a1 off T |

D. =TS SUTide (W, [3Y.) He 9 36 A9 &1 §9H1 94d 5l ¢ |

i 748 710 fawedl § Uol 3R &l 994 &9 |

1. Hdd A 3R B
2. BATA AR C
3. HIAAIARD
4. HIACIARD

Options :

68634075369. 1

68634075370. 2

68634075371. 3
68634075372. 4

Question Number : 44 Question Id : 68634019083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
(Maps) (Example)
A |Chorochromatic I |Interaction Maps
B. [[sopleth 1I. |Population distribution maps
C. |Quantitative dot ITI. |Contour maps
D. [Flowline IV [Land use maps

Choose the correct answer from the options given below:
1. A-L. B-IL. C-III, D-IV
2. A-TIL, B-L. C-IV. D-II
3. A-II. B-III. C-1. D-IV
4. A-IV, B-III. C-II. D-I
Options :
68634075373. 1

68634075374. 2
68634075375. 3



68634075376. 4

Question Number : 44 Question Id : 68634019083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 gl 11§ fiar Sifey

T T =
GIEICE)) (CELEEL)
A ™ 1. |3fc:ferar aatam
B. [GHHME &l 11 [S-4%T fqaiur HHE
C. [amnee feig 1L [GH =3 A1
D. [JdTg 31 V. [+ SugnT g
FFrafafad fdeedl § O Il 3R &1 90 Hifold

1. A-I. B-II. C-IIT. D-IV
2. AL B-L C-IV. D-II
3. AL B-1III. C-1. D-IV
4. A-IV. B-I1I. C-I1. D-I

Options :

68634075373. 1

68634075374. 2

68634075375.3
68634075376. 4

Question Number : 45 Question Id : 68634019084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The interrelationship between plants and animals and their biotic and abiotic environment is termed as

1. sucecession

2. community

L N]

. biogeography
4. ecosystem

Options :

68634075377. 1
68634075378. 2
68634075379. 3
68634075380. 4



Question Number : 45 Question Id : 68634019084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ‘r%ﬁa%?r{tr{aﬁawmmmﬁmqﬁa&ﬁmmﬁm%nmmaﬁmﬁw:mﬁ G|
SIE |

1. 3BT
) g
RGNS

4. UTRFRAUfaeT &
Options :
68634075377. 1
68634075378. 2

68634075379. 3
68634075380. 4

| ]
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Question Number : 46 Question Id : 68634019085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a part of Sethu Samudram Ship Canal Project?

1. Gulf of Mannar

| )

. Palk Bay
3. The Adam's Bridge

4, Gulf of Khambhat

Options :

68634075381. 1
68634075382. 2
68634075383. 3
68634075384. 4

Question Number : 46 Question Id : 68634019085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 3 9 o1 1 O SET Uid o) UREIeH &1 U@ Wi Rl 8 2
1. HAR &1 Wrel
2. TS AT

LS ]

GH BT
4, G D @ral

Options :

68634075381. 1
68634075382. 2
68634075383. 3
68634075384. 4

Question Number : 47 Question Id : 68634019086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The maintenance of grasslands through burning 1s an example of

1. plagioclimax
2. edaphic control
3. succession
4. biomes

Options :

68634075385. 1

68634075386. 2

68634075387. 3
68634075388. 4

Question Number : 47 Question Id : 68634019086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR U & HeM| &1 [E-7@1d &1 U% AT © |
1. SHFd 9H
g FrgE

. 3IpHUI
4. Sy

| ]

[ 5]

Options :
68634075385. 1



68634075386. 2
68634075387. 3
68634075388. 4

Question Number : 48 Question Id : 68634019087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following types of stability refers to the establishment of stability in a natural ecosystem after
large scale disturbances or perturbations?

1. No-oscillation stability

[ ]

. Resilience stability

3. Elastic stability

s

. Cyclic-stability

Options :

68634075389. 1
68634075390. 2
68634075391. 3
68634075392. 4

Question Number : 48 Question Id : 68634019087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e O 3 g yeR & (R Wi (e gaiarul H §5d-%e & oAayl d1 $ieiawl & Uyld [Rdl &l
Iftd St @ 2

. ﬁ-[f? o 5 %f‘l TR
2. TR e &Rl
3. 00 fRRG
4. Teb iy RRRdr
Options :
68634075389. 1
68634075390. 2

68634075391. 3
68634075392. 4

—

Question Number : 49 Question Id : 68634019088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following subjects related to environment is included in the state list of the VII™ schedule of
the constitution of India?

1. Fishing beyond territorial waters.

| ]

. Public health and sanitation.
3. Regulation and development of oil fields.
4. Regulation and development of Inter-state rivers and river valleys.

Options :

68634075393. 1
68634075394. 2
68634075395. 3
68634075396. 4

Question Number : 49 Question Id : 68634019088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁ%ﬁﬁwmﬁmmﬁ?mﬁwmﬁﬂﬂﬂﬁwﬁmﬂzﬁﬁ?ﬁﬁ@ﬁﬂﬁﬁmmw

1. Hrrid SeeE (9%) 3 W Twd e el

2. O Ry SR Wwsdl

3. e &A1 1 g iR faery

4. JeRieyg el 3R =l wifedi 1 fam S fasr

Options :

68634075393. 1
68634075394. 2
68634075395. 3
68634075396. 4

Question Number : 50 Question Id : 68634019089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: The distributions of marine plants and animals are more widespread and cosmopolitan than the
distributions of terrestrial organisms.

Reason R: Nutrients are circulated more quickly and efficiently in sea water.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A.
3. A is correct but R not correct.

4. A is not correct but R is correct.

Options :

68634075397. 1
68634075398. 2
68634075399. 3
68634075400. 4

Question Number : 50 Question Id : 68634019089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3 Py fEU U §: U BT (Assertion A) B =0 H ARG g Al GIRT 3HD BRUI (Reason R) &
*UH:
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®RUTR : YR o H Ui ded 31 el 3R guraxiell 71 3 gR¥=aRd gid g1
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1. AT R F W61 § GUTR. A T U1 o1 §
2. ATUTR GHT e €. AT R, A Bl TS e =11 &
3. ATEI R AfFTR TET A
1. ATE e g Al R WEl &

Options :

68634075397. 1
68634075398. 2
68634075399. 3
68634075400. 4

Question Number : 51 Question Id : 68634019090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following stages of man's relationship with natural environment in chronological order:

A. Period of plant domestication and agriculture.

B. Period of Science. technology and industrialsation.
C. Period of hunting and gathering.

D. Period of animal domestication and pastoralism.

Choose the correct answer from the options given below:
1A B.C,D
2.C.DA,B
3.D.C.B.A

4.C.B.A D

Options :

68634075401. 1
68634075402. 2
68634075403. 3
68634075404. 4

Question Number : 51 Question Id : 68634019090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 SR Widiie TaiaRvl & e Sl G arel T a3 &1 Sleepd 3 o0aieyd o |

A TTef & OTAqe@Rul SR B PTG
B. [a3. TobIop! 3R e o &1 g
C. bR SR TeHiBu &1 g1

D. U3{i & Il 0T 3R UERU 61 gl
1= et e fased! # wel ST &l == 3 |

1. AB.C.D

J

.C.DA.B
3.D.C.B.A
4.C.B.A.D

Options :

68634075401. 1
68634075402. 2
68634075403. 3
68634075404. 4

Question Number : 52 Question Id : 68634019091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Biodiversity refers to the variety of habitats. species and genetic diversity in an ecosystem.
Statement IT: The South Asian Tsunami on 26 December 2009 was caused by an earthquake due to sinking of
the Indian plate under the Pacific plate.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement I is incorrect.

4. Statement [ 1s incorrect but Statement I is correct.

Options :

68634075405. 1
68634075406. 2
68634075407. 3
68634075408. 4

Question Number : 52 Question Id : 68634019091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B R A A TA L) (0T
FUT I : NIRRT o7 § fafir srardia. usdy ok w-ie fafguarsi & sa-fafguar s 9 g

YT 11 : 26 [SHaR 2000 D1 & URMET T 31 GTell AT D1 HRU YR ©IE & YLid ©I & g 49
I IH Y 2T |

SWRIEd DYl & el H, A 14U Y faeedl ¥ I 9a9 Iuged TR &1 99 ST
1. HUT 1 AR 11 31 961 §
2. BYF 1 R I1 GHI Tad §
3. Y1 el 6. Al DY 1 7T0d &
4. YA 1710 B, Afh Y 11 el &

Options :

68634075405. 1
68634075406. 2
68634075407. 3
68634075408. 4

Question Number : 53 Question Id : 68634019092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statements with reference to air pollution in India and identify the correct one's:

A. Air pollution is not a serious threat in India due to low level of urbanisation and industrialisation.

B. Good governance and excellent compliance to pollution control norms has contributed in negative
growth of pollutants.

C. Fuel and lubricants quality specifications have been introduced to check air pollution.

D. Alternative fuels have been introduced to check air pollution.

Choose the correct answer from the options given below:

1. C and D only

J

. A and B only
3.A.CandD only

4. B and D only

Options :

68634075409. 1
68634075410. 2
68634075411. 3
68634075412. 4

Question Number : 53 Question Id : 68634019092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H a1g Wguul & e # (5 Syl 31 uigu 3R 98! U &l g |

A. TRIGIV SR SFHR01  (51 TR & SRUT YR H 9 YguU[ Ueh TR e 76l © |

B. US| B BUTAS g F W01 8101 Fawf 1 Iy e 3R 850k IR FTAMEH § |
C. A YguU Bi AT S & [TU 584 SR Te® &1 [0l & [0He% arl fPu s |

D. A1 UgHUl ] (HaEd B3 & [0 dob i 54 1 TRAT DI T3 © |

=i feg e Al # ¥ Tel ST &1 994 Bivie:
1. %ae ¢ R D
2. Pad A SRB
3.%adA. C3RD
4. $aAB 3R D

Options :

68634075409. 1
68634075410. 2
68634075411. 3
68634075412. 4




Question Number : 54 Question Id : 68634019093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Pollutant) (Disease)
A dees of Nitrogen and & it
Sulphur
B. [Particulate matter II. May lead to stroke
C. |Carbon monoxide IT1. [Bronchitis
] T v In’_iration to eves, nose and
throat

Choose the correct answer from the options given below:
1. A-I. B-1I, C-II1, D-IV
2. A-TLL B-1. C-IV. D-III
3. A1, B-1. C-1I, D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634075413. 1
68634075414. 2
68634075415. 3
68634075416. 4

Question Number : 54 Question Id : 68634019093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A 3 L [em
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1.A-I. B I DIV
3. AT B €IV, DAl
3 AT B OO DIV
4. A-IV. B-IIL, C-II, D-I

Options :

68634075413. 1

68634075414.2

68634075415. 3
68634075416. 4

Question Number : 55 Question Id : 68634019094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per census of India 2011, the two most densely populated states of India are

1. West Bengal and Kerala
2. Kerala and Uttar Pradesh
3. Bihar and West Bengal
4. Tamil Nadu and Haryana

Options :

68634075417. 1

68634075418. 2

68634075419. 3
68634075420. 4

Question Number : 55 Question Id : 68634019094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRIUMAT 2011 & SHTHR, HRA & &1 Hall¥e S8 g+ ardl Iy Bl
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Options :

68634075417. 1

68634075418, 2

68634075419. 3
68634075420. 4

| ]
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Question Number : 56 Question Id : 68634019095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tropic of cancer does not pass through which one of the following states?

1. Tripura

| )

. Mizormm

L]

. Manipur
4. Chhatishgarh

Options :

68634075421. 1
68634075422. 2
68634075423. 3
68634075424. 4

Question Number : 56 Question Id : 68634019095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 7 ¥ oy o0 7 ¥ @b 31 ol Rl § 2
1. BT
2. freiRe

3. HigR
4. BUTE

Options :



68634075421. 1
68634075422. 2
68634075423. 3
68634075424. 4

Question Number : 57 Question Id : 68634019096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s NOT an antecedent river 7
1. Krishna
2. Indus
3. Yamuna

4. Brahmaputra

Options :

68634075425. 1
68634075426. 2
68634075427. 3
68634075428. 4

Question Number : 57 Question Id : 68634019096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 31 P o e A T

1. T
iy

| ]

3. 7
4. SEIGA

Options :

68634075425. 1
68634075426. 2
68634075427. 3
68634075428. 4

Question Number : 58 Question Id : 68634019097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 2011, the female literacy was lowest in

1. Bihar

| ]

. Rajasthan

. Jharkhand

L]

4. Arunachal Pradesh

Options :

68634075429. 1
68634075430. 2
68634075431. 3
68634075432. 4

Question Number : 58 Question Id : 68634019097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHIUMT 2011 & 3THR, a9 1 Higal &R &3 CRIN

1. fagR
2. oI
3. dRE0s
4. S{BUTEIE USR]

Options :

68634075429. 1

68634075430. 2

68634075431. 3
68634075432. 4

Question Number : 59 Question Id : 68634019098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Atal Tunnel is built in which one of the following ranges?

1. Pir Panjal

[ ]

. Dhauladhar
3. Zaskar
4. Stwalik
Options :

68634075433. 1
68634075434. 2



68634075435.3
68634075436. 4

Question Number : 59 Question Id : 68634019098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e O by udd gad ¥ 4 sied g9 o1 i fear g o
1. R goire
2. dIeTR
3. SIBR
4. Rrarfers

Options :

68634075433. 1
68634075434. 2
68634075435. 3
68634075436. 4

Question Number : 60 Question Id : 68634019099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Post-1981. India has moved to late expanding stage of demographic transition.

Reason R: In India the gap between birth rates and death rates has increased only gradually after 1981.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| B

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R is false.

4. A 1s false but R is true.

Options :

68634075437. 1
68634075438. 2
68634075439. 3
68634075440. 4

Question Number : 60 Question Id : 68634019099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075437. 1
68634075438. 2
68634075439. 3
68634075440. 4

Question Number : 61 Question Id : 68634019100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following states in descending order of literacy as per the census of India. 2011.

A. Kamataka

B. Tamil nadu

C. Himachal Pradesh
D. Gujarat

Choose the correct answer from the options given below:

1.C.B.D. A
2B, C. DA
3.B.CAD
4.C.D.A.B

Options :

68634075441. 1

68634075442. 2

68634075443.3
68634075444. 4

Question Number : 61 Question Id : 68634019100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ty

HRd &I SHIUET 2011 & SJHR - f3U 71U 30T &1 IR &R & AR 3idRig! HH § oHafyd Hifere
|

i {68 7T fasedl | el SR &1 98- 3 |
1.C.B.D. A
2.B.C.D A
3.B.C.A.D
4. C.,IDLA B

Options :

68634075441. 1
68634075442. 2
68634075443. 3
68634075444. 4

Question Number : 62 Question Id : 68634019101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Compact or clustered settlements, are generally found in fertile alluvial plains of India.
Statement IT: Extreme dispersion of settlement is often caused by extremely fragmented nature of the terrian
and land resource base of habitable areas.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

| S

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II 1s incorrect.

4. Statement I is incorrect but Statement II 1s correct.

Options :

68634075445. 1
68634075446. 2
68634075447. 3
68634075448. 4

Question Number : 62 Question Id : 68634019101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. PY 181 8. Ab YT 11 7T0d &
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Options :

68634075445. 1
68634075446. 2
68634075447. 3
68634075448. 4

Question Number : 63 Question Id : 68634019102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements carefully and identify the correct one's .
A. The Dharwar system rocks are of great economic value due to presence of principal minerals.
B. Aravalli Range of India originated from Tethys sea.

C. Deccan trap is made up of basalt lava.
D. Lakshadweep islands are tectonic islands.

Choose the correct answer from the options given below:

1. A. B and C only

| S

.B. Cand D only
3. Cand D only
4. A and C only

Options :

68634075449. 1
68634075450. 2
68634075451. 3
68634075452. 4

Question Number : 63 Question Id : 68634019102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

= fau U HUE @1 eagde ufen SR W8t Syl i TgEl

A. TE @S &1 SURYM & $RU YRATS B4 ©1 9eF1 &1 SfAlvd e g g
B. YRd I 3RTG0H §Td1 1 It SfUe IR 4 g5 21

C. GFP U B dHTee AT Y g 3

D. T&gY gu 91 fdadfe g a8

- feu T fawedl 7 9 Tel SR &1 99 Hifoe:
1. BT A. B IR C
2. %ad B, C 3R D
3.%dd C 3R D
4. PIAAARC

Options :

68634075449. 1
68634075450. 2
68634075451. 3
68634075452. 4

Question Number : 64 Question Id : 68634019103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(State) (Pass)
A |[Himachal Pradesh I |ThagalLa
B. [Untarakhand II. [Banihal
C. [Sikkim III. |Bara Lacha La
D. Jammu IV. PJelep La

Choose the correct answer from the options given below:
1. A-ITT. B-1. C-IV. D-II
2. AL B-IIL., C-IV. D-I
3. A-IL. B-1I1. C-1, D-IV
4. A-IV. B-1. C-I1L, D-1I
Options :
68634075453. 1
68634075454. 2

68634075455.3
68634075456. 4



Question Number : 64 Question Id : 68634019103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 fia oify

A, [ ugm L et
B. [3TRMETS 11 [gier
c. [aEsa I AR o a3
D. [o 3R H=UR v [Sem et

fFrafarad fameal 5 T 961 S| &1 994 DI :

1. A-III, B-1. C-IV. D-II

| B

CA-IL B-IITL C-IV. D-I
3. A-IL B-IIIL C-1. D-IV
4. A-IV, B-1. C-III. D-IT

Options :

68634075453. 1
68634075454. 2
68634075455. 3
68634075456. 4

Question Number : 65 Question Id : 68634019104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Economic geography deals with the economic life of man with relation to environment." Who gave this
definition?

1. Huntington

| ]

. Zimmerman
3. Hartshorne

4. Thoman

Options :

68634075457. 1
68634075458. 2
68634075459. 3
68634075460. 4

Question Number : 65 Question Id : 68634019104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
3fefer Wite Aa & anfiles Sita & qaiaRor & Y =i o 3feng § a8 Uik e <t ot -

1. gfetred
2. formREA

3. BT
4, 48T

Options :

68634075457. 1
68634075458. 2
68634075459. 3
68634075460. 4

Question Number : 66 Question Id : 68634019105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jon Thunen argued that was the main determinant of what combination of crops a farmer should
grow and with what mntensity.

1. distance from the market

[ ]

. fertility of the soil
3. price of the crop

4. amount of rainfall.

Options :

68634075461. 1
68634075462. 2
68634075463. 3
68634075464. 4

Question Number : 66 Question Id : 68634019105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075461. 1
68634075462. 2
68634075463. 3
68634075464. 4
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Question Number : 67 Question Id : 68634019106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Extracting coal from the ground is an example of which sector of the economy?

1. Primary

| ]

. Secondary

L¥ ]

. Tertiary
4. Quaternary

Options :

68634075465. 1
68634075466. 2
68634075467. 3
68634075468. 4

Question Number : 67 Question Id : 68634019106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| S

LS ]



Options :

68634075465. 1
68634075466. 2
68634075467. 3
68634075468. 4

Question Number : 68 Question Id : 68634019107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Following are the human factors influencing industrial location: except

1. Capital

J

. Site
3. Labour
4. Market

Options :

68634075469. 1
68634075470. 2
68634075471. 3
68634075472. 4

Question Number : 68 Question Id : 68634019107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 3 srafRufdy 1 il e T W PRe Fefifea 8 Sa BIBIEP
1. M
2.8
3. 4H
4. dluflY

Options :

68634075469. 1
68634075470. 2
68634075471. 3
68634075472. 4

Question Number : 69 Question Id : 68634019108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mediterranean agriculture is NOT practised in which one of the following places ?

1. Southern Califormia

| ]

. Central Chule
3. South Western parts of South Africa
4. North Eastern parts of Australia
Options :
68634075473. 1
68634075474. 2

68634075475. 3
68634075476. 4

Question Number : 69 Question Id : 68634019108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o & 9 o F R AR YoR &1 SN 78 @1 o € 2
1. Gl&r Siampitar
2. 7o ferelt
 GI&T0T it & Sfgrurafgast «m
. 3R TeraT & ITR-Ydl HFT
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Options :

68634075473. 1
68634075474. 2
68634075475. 3
68634075476. 4

Question Number : 70 Question Id : 68634019109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following zones identified by Von Thunen in order of their location from the city.

A. Crop farming without fallow zone

B. Crop farming, fallow and pasture zone

C. Market gardening and milk production zone
D. Fuelwood and Timber production zone

Choose the correct answer from the options given below:
1A B.C,D
2.DA B, C
3.C.D.A.B

4.B.A.D.C

Options :

686340754717. 1
68634075478. 2
68634075479. 3
68634075480. 4

Question Number : 70 Question Id : 68634019109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 &g gRI1 FuiRa e &3] &1 e 3 901 ([&ufa & sER o0 1 ams |
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1. AB.C.D

b

D, AB.C
3.C.DLAB
4.B.A.D.C

Options :

68634075477. 1
68634075478. 2
68634075479. 3
68634075480. 4

Question Number : 71 Question Id : 68634019110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements about Weber's theory of industrial location:
Statement I: Weber introduced locational triangle to identify least-cost location for a industry.
Statement IT: Any industry producing perishable products needs to be located close to the market.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.

3. Statement I is true but Statement II 1s false.

4, Statement I is false but Statement IT is true.

Options :

68634075481. 1
68634075482. 2
68634075483. 3
68634075484. 4

Question Number : 71 Question Id : 68634019110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
deR & SfElfien srawia Rigid & aR H i &l o Ry U §:
FYT1 : U I & AU <A™ 1T died RIF & Yg<- & AU dar A afufd By 3 ui=g s
FYT 1 : Pl 1 I S <08 TG 54 AT asd 3 BT IS Bl 5. SR & e 2Ud g1 9|
SWRIdd Yl & Tdle . i fGU 70 fadel H 9 Tel SR &1 997 HIfuIe:
1. PY 1 AR 1 ST T &
2. HYA 1 3R 11 ST 3R §

3. PYT 1 90 8. AT PYT 11 3T &

4. PYTI IR, AT YT I T &

Options :

68634075481. 1
68634075482. 2
68634075483. 3
68634075484. 4

Question Number : 72 Question Id : 68634019111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about primary activities carefully and identify the correct statements.

A. North Western Europe 1s not suitable for commercial dairy farming.

B. Plantation agriculture was introduced by the Europeans in colonies situated in the tropies.

C. Intensive subsistence agriculture is largely found in highly developed parts of the world.

D. Commercial grain farming is practised in the interior parts of the semi-arid lands of the mid-latitudes.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. C and D only

4. B and D only

Options :

68634075485. 1
68634075486. 2
68634075487. 3
68634075488. 4

Question Number : 72 Question Id : 68634019111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075485. 1
68634075486. 2
68634075487. 3
68634075488. 4

Question Number : 73 Question Id : 68634019112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
(Activities) (Workers)
A |Primary activities I. |Pink-collar
B. |Tertiary activities II. [White-collar
C. |Quaternary services I11. |Gold-collar
D. |Quinary activities IV. |Red-collar

Choose the correct answer from the options given below:

1. A-IV. B-1, C-II, D-III

[

CA-IL B-III, C-IV. D-II
3. A-IT. B-IV. C-II1, D-I
4. A-II1, B-1I. C-1. D-IV

Options :

68634075489. 1
68634075490. 2
68634075491. 3
68634075492. 4

Question Number : 73 Question Id : 68634019112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 fia oify
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1. A-IV, B-1. C-I1, D-ITI
2. A-L B-III. C-IV. D-II
3. A-IL. B-IV. C-III, D-I
4. A-I11. B-1I. C-I1. D-IV
Options :
68634075489. 1

68634075490. 2
68634075491. 3



68634075492. 4

Question Number : 74 Question Id : 68634019113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a favourable condition for the formation of tropical cyclones?

1. Weal coriolis force.

[

. Continuous supply of large amount of warm and moist air

L]

. Upper air divergence
4, Maximum vertical wind shear
Options :
68634075493. 1
68634075494. 2

68634075495. 3
68634075496. 4

Question Number : 74 Question Id : 68634019113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075493. 1
68634075494. 2
68634075495. 3
68634075496. 4

Question Number : 75 Question Id : 68634019114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



n

is the probability that a hazard will happen or. more precisely. the likelihood that an event will
coincide with elements which can be affected.”

1. Resilience

2. Vulnerability

3. Risk

4. Mitigation
Options :
68634075497. 1
68634075498. 2

68634075499. 3
68634075500. 4

Question Number : 75 Question Id : 68634019114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075497. 1
68634075498. 2
68634075499. 3
68634075500. 4

Question Number : 76 Question Id : 68634019115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following country is not associated with Indian Ocean Tsumam Warning and Mitigation System
(IOTWMS)?

1. Sweden

| )

Iran

3. Indonesia

4. Australia



Options :

68634075501. 1
68634075502. 2
68634075503. 3
68634075504. 4

Question Number : 76 Question Id : 68634019115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075501. 1
68634075502. 2
68634075503. 3
68634075504. 4

Question Number : 77 Question Id : 68634019116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
National Institute of Disaster management comes under
1. Ministry of Home Affairs
2. Ministry of Health and Fanuly Welfare
3. Ministry of Science and Technology

4. Prime Minister Office

Options :

68634075505. 1
68634075506. 2
68634075507. 3
68634075508. 4

Question Number : 77 Question Id : 68634019116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634075505. 1
68634075506. 2

68634075507. 3
68634075508. 4
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Question Number : 78 Question Id : 68634019117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s a Non-structural measure of flood management?

1. Flood plain zoning

[

. Embankments and Floodwalls

L¥ 5]

. Dams and Reservoirs
4. Channel improvement

Options :

68634075509. 1
68634075510. 2
68634075511. 3
68634075512. 4

Question Number : 78 Question Id : 68634019117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634075509. 1
68634075510. 2
68634075511. 3
68634075512. 4

Question Number : 79 Question Id : 68634019118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Hazard is a threat but disaster is an event.

Reason R: Disaster represents a serious disruption of the functioning of a society. causing widespread human,
material or environmental losses which exceed the ability of the affected society to cope using its own
TESOUrces.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.
4. A is not correct but R is correct.
Options :
68634075513. 1
68634075514.2

68634075515.3
68634075516. 4

Question Number : 79 Question Id : 68634019118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075513. 1
68634075514. 2
68634075515. 3
68634075516. 4

Question Number : 80 Question Id : 68634019119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following tropical disturbances in order of increasing wind speed.
A. Deep Depression
B. Depression

C. Super Cyclone
D. Cyclonic storm

Choose the correct answer from the options given below:
1.ADB.C
208 1A B
3.B.A,D.C

4.B.,A.C.D

Options :

68634075517. 1
68634075518. 2
68634075519. 3
68634075520. 4

Question Number : 80 Question Id : 68634019119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fgdl g5 Uad T & SER FE Iwsieadi el &1 orafid Sif-

A. T 3{deTd

B. Jdqld

C. W =hard
D. Iehaldiid i

=1 &8 77U o edl © Tet SR &1 994 &1 |

1A B B E

-

A.D.C.B

3.B.A.D.C

4.B.A.C.D



Options :

68634075517. 1
68634075518. 2
68634075519. 3
68634075520. 4

Question Number : 81 Question Id : 68634019120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: More cyclones develop in the Bay of Bengal than the Arabian Sea.

Statement IT: Between 1891 and 1990 the west coast region received more severe cyclonic activity as
compared to the east coast of India.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

| ]

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II 1s incorrect.

4. Statement I is incorrect but Statement II 1s correct.

Options :

68634075521. 1
68634075522. 2
68634075523. 3
68634075524. 4

Question Number : 81 Question Id : 68634019120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Py RUTCE:

HYF 1 ST B DS H 3RE IR B qa-1 H TP Ihad SOA gl 3 |

HU 11 : 1891 3(R 1990 & HEA YR & UiaHl e 47 R 559 Ydl d¢ 31 go 5 3ifve TR =Iwardy
Tfafafdgi ss BB |

SWRIEd BYT P 3HTclld 1, Hd 2 7Y fdeedi T 9 9 Iugdd TR &1 99 HIfolg:

1. U1 AR 11 S T R
2. BYF T AR 11 Tad 8
3. PYA 1 Gl 5. Alibd Y 11 7T0d &
4. PYA T . Tifeh Y 11 HE ©

Options :

68634075521. 1
68634075522. 2
68634075523. 3



68634075524. 4

Question Number : 82 Question Id : 68634019121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following with reference to National Institute of Disaster Management. carefully and identify the
correct statements.

A It 1s an upgradation of National Centre for Disaster management.
B. It 15 not a statutory organisation under NDMA.

C. It develops training modules.

D. It develops educational materials for disaster management

Choose the correct answer from the options given below:

1. A, B and C only

2

. B and C only
3.B and D only
4. A. C. and D only
Options :
68634075525. 1
68634075526. 2

68634075527. 3
68634075528. 4

Question Number : 82 Question Id : 68634019121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 3TYET YeeH SR & Hay # 1 1 egdes ey SR Hel el &l ugar |
A. T8 TP SHT9ET HEeH &5 1 390 ¥4 ¢
B. AP {1921 Ya e HUFTH & Sfdiid g8 T duTHe 4715 16l ¢
. Ug ufRiem sried fawfid Har sl
D. g 31921 yaeH & oy Qeifore gt fasiid axdi g
Hid T4 U f[daegl & U Uel 3R &1 944 Sl
1. PATA. B IR C
2. FAAB AR C
3. $adB IR D

4. Hdd A, C 3R D

Options :
68634075525 1



68634075526. 2
68634075527.3
68634075528. 4

Question Number : 83 Question Id : 68634019122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Region) (Disaster)
A Middle Ganga Plain I |Drought
B. |[Western Rajasthan IT. |Cyclone
C. |5ikkim 111 [Flood
D. |Coastal Odisha IV. [Earthquake

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-III, D-1

[

AL B-IV. C-I1. D-I
3. A-ITT, B-1. C-IV. D-IT
4. A-IV, B-II. C-I. D-III

Options :

68634075529. 1
68634075530. 2
68634075531. 3
68634075532. 4

Question Number : 83 Question Id : 68634019122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 1 gl 11 9 fia oify

'\'352)1 = I
_ (319D
A AT HEH 0l RE

B. Q=g Ie=H 1. [ahard

C. [Gfdsa 111 [€1G

D. [d<1g HifSam IV. [
fafifiad faeedl & O U8l S &1 994 Difo -

1. A-IL. B-IV. C-III. D-I

[ )

cA-IIL B-IV. C-I1, D-I
3. A-II1. B-1. C-IV. D-II
4. A-IV, B-II. C-I. D-III

Options :

68634075529. 1
68634075530. 2
68634075531. 3
68634075532. 4

Question Number : 84 Question Id : 68634019123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s a sub-segment of business travel?

1. Eco-tourism
2. Medical tourism
3. Sustainable tourism
4. MICE

Options :

68634075533. 1

68634075534. 2

68634075535.3
68634075536. 4

Question Number : 84 Question Id : 68634019123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 8 @ oF fSe-g g &1 U6 3U-Ucd 8 2
1. IRf&foest gde

fafescan uden

3. YR g

HAR A

Options :

68634075533. 1
68634075534. 2
68634075535. 3
68634075536. 4

| ]
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Question Number : 85 Question Id : 68634019124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following caves 1s NOT located in Maharashtra?

1. Elephanta caves

[ ]

. Ajanta caves
3. Ellora caves
4. Baba Pyara caves

Options :

68634075537. 1
68634075538. 2
68634075539. 3
68634075540. 4

Question Number : 85 Question Id : 68634019124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 8 ol e HeRY J [RYa gl 8 2

[ =

1. uferther &l HId

2. 3ol B THIY
3. YARI 1 B
4. S1€1 WRI &1 TH1Y

Options :



68634075537. 1
68634075538. 2
68634075539. 3
68634075540. 4

Question Number : 86 Question Id : 68634019125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The PRASAD scheme was changed to "National Mission on Pilgrimage Rejuvenation and Spiritual Heritage
Augmentation Drive (PRASHAD)" in

1. October 2017
2. October 2019
3. October 2020
4. October 2022
Options :
68634075541. 1
68634075542. 2

68634075543.3
68634075544. 4

Question Number : 86 Question Id : 68634019125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URITE (PRASAD) A6 $I "IP 1A SEe e 3R seaidis dag siidH (PRASHAD)" H
| gfvafdd fear |

1. 3eqsR 2017
2. HRIER 2019
. RIS 2020
4. 3feRISR 2022
Options :
68634075541. 1
68634075542. 2

68634075543.3
68634075544. 4

L ¥ ]

Question Number : 87 Question Id : 68634019126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



international airport registered maximum number of Foreign Tourist Arrivals (FTAs) in India 2021.

1. Mumbai

[ ]

. Delhi
3. Bangalore
4. Amritsar

Options :

68634075545. 1
68634075546. 2
68634075547. 3
68634075548. 4

Question Number : 87 Question Id : 68634019126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR & SHORIET B8 313 IR 2021 H Faffe G e smm= ool fdumg 2

1. gag
2. faet
3. §TER

4. HTR

Options :

68634075545. 1
68634075546. 2
68634075547. 3
68634075548. 4

Question Number : 88 Question Id : 68634019127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: In the last five years the number of Foreign Tourist Arrivals (FTAs) in India has increased
consistently.

Reason R: In India air transport facilities have increased in last five years.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A.
3. A 1s correct but R 1is not correct
4. A is not correct but R is correct.
Options :
68634075549. 1
68634075550. 2

68634075551. 3
68634075552. 4

Question Number : 88 Question Id : 68634019127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3 Py AU U §: TP BT (Assertion A) B =0 H ARG g A G¥RT 3HD BRUI (Reason R) &
*UH:

SfUPYT A : 719 giT Tu1 § faezfi gded M- & S YR B FlSR g wi g |

PRUIR : T 979 a8 § YR 1 a7 TRae &1 gausi d g gs g |
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1. ATUT R F1 961 § TUTR. A S 061 o1 §

 ATUIR G T8l &, Al R. A ] Hel IR 781 &
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AR TSI g AfPTR el §

Options :

68634075549. 1
68634075550. 2
68634075551. 3
68634075552. 4
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Question Number : 89 Question Id : 68634019128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following tourist places from North to South :

A Gaya

B. Sommnath
C. Tirupati
D. Hazartbal

Choose the correct answer from the options given below:
1. G A B; D
2.DA B, C
3.D.B.C.A
4.B,C.,D. A

Options :

68634075553. 1
68634075554. 2
68634075555. 3
68634075556. 4

Question Number : 89 Question Id : 68634019128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFreTEd wie el @1 ST ¥ afé H H ouafeyd S |

A. AT

B. TIHA™
c. foydl
D. goRdad

=T fad e faweal 5 Uel GOk &l 994 &9 |

1. C,A.B.D

-

.D.A.B.C
3D.B,CA
4.B.C.D. A

Options :

68634075553. 1
68634075554. 2
68634075555. 3
68634075556. 4

Question Number : 90 Question Id : 68634019129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Weather conditions at different tourist destinations are one of the important determinants of
tourists arrivals in India.

Statement IT: In India in 2021 the 27¢ quarter of the calendar year constituted the peak quarter of foreign
tourist arrivals.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.

2. Both Statement I and Statement IT are false.

3. Statement I is true but Statement IT is false.

4. Statement [ 15 false but Statement II is true.
Options :
68634075557. 1
68634075558. 2

68634075559. 3
68634075560. 4

Question Number : 90 Question Id : 68634019129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIERARAICRTALE) (P
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1. FY 1 AR 11 S 9 &
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3. PYTI I 8. AT PUT I 3T &

4. YT T 8. dfpT HUT I T &

Options :

68634075557. 1
68634075558. 2
68634075559. 3
68634075560. 4

Question Number : 91 Question Id : 68634019130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Tourist Destinations) (State)
A |Tampara lake I |Gujarat
B. [Khajuraho II. |Andhra Pradesh
C. [Vadnagar ITT. Madhya Pradesh
D_ [Pulikat lake IV |Odisha

Choose the correct answer from the options given below:
1. A-IV. B-I11. C-1. D-II
2. AT, B-IV. C-I1. D-I
3. A-II, B-III. C-IV, D-I
4. A-I. B-II. C-III. D-IV

Options :

68634075561. 1
68634075562. 2
68634075563. 3
68634075564. 4

Question Number : 91 Question Id : 68634019130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy
T T T
(@i R QT)
A [fERT A 1 fea
B. [@9T8l I1. |38 T
C. [areR 11 [TEUGET
D. [gfciee 3 N EEE
fafifiad faeedl & O U8l S &1 994 Difo -

1. A-TV, B-II1. C-1. D-I1
2. A-TIL B-IV. C-11. D-I
3. A-IL B-III. C-IV. D-I
4. A-1. B-11. C-T1I. D-IV

Options :

68634075561. 1

68634075562. 2

68634075563. 3
68634075564. 4



Question Number : 92 Question Id : 68634019131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Environment (Protection) Act was enacted in India in

1. 1986

| )

. 1990
3.1996
4. 1997
Options :
68634075565. 1
68634075566. 2

68634075567. 3
68634075568. 4

Question Number : 92 Question Id : 68634019131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H gaiaRor W& e T S T T ot |

1. 1986

| )

. 1990
3. 1996
4, 1997

Options :

68634075565. 1
68634075566. 2
68634075567. 3
68634075568. 4

Question Number : 93 Question Id : 68634019132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following works 1s NOT correctly matched with author?

1. Silent spring - Rachel Carson

| ]

. The Population Explosion - Thomas Malthus

L]

. The Population Bomb - Paul R. Ehrlich
4. Climate Justice - Mary Robinson

Options :

68634075569. 1

68634075570. 2

68634075571. 3
68634075572. 4

Question Number : 93 Question Id : 68634019132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 7 fop 1 &1 S e &A1Y JHAT ol © 2
1. grgde Wi - Wd SR
. & U Uawlol - 4Ty AT
3. G UIYeIRH &9 - Ulel 3fR. gerifcr
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e

Options :

68634075569. 1
68634075570. 2
68634075571. 3
68634075572. 4

Question Number : 94 Question Id : 68634019133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s also known as the 'Club of Rome' Report?
1. Our Common Past and Future
2. Population Explosion
3. Limits to Growth

4. Silent Spring

Options :
68634075573. 1



68634075574. 2
68634075575.3
68634075576. 4

Question Number : 94 Question Id : 68634019133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T feg o oud e Im o s I s em g 2

1. 3faR BHIH- URE UUs W=

T TRl

fafired ¢ iy (gfs ot dimm)
. Igcic Wik

Options :

68634075573. 1

68634075574. 2

68634075575. 3
68634075576. 4
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Question Number : 95 Question Id : 68634019134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Agenda 21, a comprehensive plan of action was adopted at the
1. World Summit on Sustainable Development, Johannesburg
2. Rio+20
3. Paris Conference on Climate Change
4. United Nations Conference on Environment and Development, Rio de Janerio, 1992
Options :
68634075577. 1
68634075578. 2

68634075579. 3
68634075580. 4

Question Number : 95 Question Id : 68634019134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U [aegd pR UG Uosl-21' Dl Hdipd [bar o |
1. 4f¥ae Had UISe 1 faer JrieH, Sie-aat
2. fai+20
3. SeiaTg gRkacH 1R O a9
4. qgTaRUT SR fdehTH UR Ty P wrter, Rl St ol 1992

Options :

68634075577. 1
68634075578. 2
68634075579. 3
68634075580. 4

Question Number : 96 Question Id : 68634019135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Sustainable development depends on input of renewable energy resources.

Reason R: Huge deposits of coal ensure sustainability in India.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R 1s NOT the correct explanation of A.
3. A is correct but R is not correct.
4. A 15 not correct but R is correct.
Options :
68634075581. 1
68634075582. 2

68634075583. 3
68634075584. 4

Question Number : 96 Question Id : 68634019135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T gl 2 [T T §: U SHUDUT (Assertion A) P =4 H H1Gd g Al GHRI 3UD BRI (Reason R)
P REE
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Options :

68634075581. 1
68634075582. 2
68634075583. 3
68634075584. 4
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Question Number : 97 Question Id : 68634019136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order :

A. Montreal protocol

B. Koyto Protocol

C. United Nations Conference on the Human Environment
D. Basel convention (Movement of Hazardous Waste)

Choose the correct answer from the options given below:

1.CA.D.B
2.C.D.B. A
3.C.B.A.D
4.D.C.AB

Options :

68634075585. 1

68634075586. 2

68634075587. 3
68634075588. 4

Question Number : 97 Question Id : 68634019136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Frrfafad gersi @ Srargsd § ogaiRyd Sife |

A. Hifegd wicidid

B. Al Wieldld

C. {9 U4iaRUl IR Hgad AP T
D. 99d IfY (I1d® S &1 HGNHA)

=1 &8 77U o edl | T8t SR &1 994 &1 |

1. C.AD.B

|

C,IDLB. A
3.C.B.A.D
4.D.C.A B

Options :

68634075585. 1
68634075586. 2
68634075587. 3
68634075588. 4

Question Number : 98 Question Id : 68634019137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Green Revolution strategy provides the base for sustainable development in India by establishing
tood security.

Statement IT: Social forestry is a program of sustainable development in India.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

| ]

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II 1s incorrect.

4. Statement I is incorrect but Statement II 1s correct.

Options :

68634075589. 1
68634075590. 2
68634075591. 3
68634075592. 4

Question Number : 98 Question Id : 68634019137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075589. 1
68634075590. 2
68634075591. 3
68634075592. 4

Question Number : 99 Question Id : 68634019138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements about Millennium Development Goals.

A. The goals were time-bound with set quantified targets.

B. All goals were achieved by all member-countries.

C. Sub-Saharan African region achieved food security for the first time.

D. The achievements were not uniform across the world and across the goals.

Choose the correct answer from the options given below:

1. A. B and C only

| )

A and D only
3.B. C and D only

4. B and D only

Options :

68634075593. 1
68634075594. 2
68634075595. 3
68634075596. 4

Question Number : 99 Question Id : 68634019138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :
68634075593. 1
68634075594. 2

68634075595. 3
68634075596. 4

Question Number : 100 Question Id : 68634019139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Sustainable Development Goal No.) (Theme)
A |Goal 1 I |Affordable and clean energy
B. |Goal 4 II. |Climate change
C. |Goal 7 III. |[No Poverty
D. |Goal 13 IV [Quality Education

Choose the correct answer from the options given below:
1. A-ITT. B-1. C-IV. D-II
2. ATV, B-111. C-1, D-TI
3. A-IIIL, B-TIV. C-1. D-II
4. A-IV, B-I1I. C-1I. D-I
Options :
68634075597. 1
68634075598. 2

68634075599. 3
68634075600. 4



Question Number : 100 Question Id : 68634019139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-1. C-IV. D-II

| B

CA-IV. B-IILL C-1L D-IT
3. A-III, B-IV. C-1. D-II
4. A-IV, B-III. C-II. D-I

Options :

68634075597. 1
68634075598. 2
68634075599. 3
68634075600. 4



